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"  %= << < F5  7 4 M< F= O=  >> ?? 4 G>>  <  
?> 7D G7 <F 5  ?D < 5> D  6  >4? < 5D > 6>G= O=  
D4E F 6> D  M A 90 15  = 4  2  G 4E4  4?O  
4>F < 6<D > 64 =< O  M? 5>F D >44 .  

"  �>?NG<F5, =4646 >=>?>G  ON/OFF. �E5 
7=4>><5EF4 =4 LCD 4<E??55 >F>5D47OFEO 
=4 1 E5>G=4G <?< =4 6D5<O =464F<O >=>?>< 
ON/OFF. 

"  �>7DG7<F5 M?5>FD>4 6 D4EF6>D 
(6<4>>EFL) 4?O ?D>6545=<O <7<5D5=<=. 
%?57>4 ?><5L<64O 4>64<F5EL 
EF45<?<74F<< <7<5D5=<=, 4> <><5=F4, 
?>>4 <=4<>4F>D =5EF45<?L=>EF< (hour- 
glass) =4 LCD 4<E??55 ?>74E=5F. 

"  � =4 G5 =< 5  G D> 6=O  >< E?> F= >EF <  ( pH )  

5G45 F  4 6F >< 4F < G5E> <  
E >>D D5 >F <D > 64 =>  DG=> F< 5 = 
F5 <? 5D 4FG D= >=  > >< ?5 =E4 F < < <  
>F >5 D4 7< FE O  = 4  4 <E ?? 55 .  � = 4G5 =< 5  
F5 <? 5D 4FG D O  > F >5 D4 7< FE O  = 4  6F > D> =  

G4EF <  4< E?? 5 O .  

"  �? O D<>E 4F < < D 5 7G?L F4 F4  
<7 <5 D5 =< O  =4  4 <E?? 5 5  = 46 << F5  <  
G45D 6 < 64 =F 5  > => ?>G  SET/HOLD. %<7=4? 

<HOLD= >F>5D47<FEO =4 4>?>?=<F5?L=>< 
4<E??55 < 7=4G5=<5 <7<5D5=<O 
74D<>E<DG5FEO =4 4<E??55.  � 4 6 < < F 5  

? N 5 G N  > = > ? > G  4 ? O  ? 5 D 5 E > 4 4  6  

> 5 O G = O =  D 5 6 < < .  

"  �? O 6O>? NG 5= <O  ? D< 5> D 4  =46 < <F 5  
>=> ?>G  ON /O FF .  % < 7=4 ?  O N/ OFF 

?> O 6< FE O  = 4  4> ?>? =< F5 ?L= > <  
4<E ??5 5   ON/OFF. �F ?GE F< F5  >=> ?>G .  
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"  �5D54 ?D>6545=<5< <7<5D5=<O G554<F5EL 6 
F><, GF> ?D<5>D >4?<5D>64= (=44?<EL CAL 

>F>5D4645FEO). 

"  �>E?5 <E?>?L7>64=<O 6E5744 

6O>?NG4=F5 ?D<5>D, ?D><>=F5 M?5>FD>4 

6>4>= 4?O G<5=LL5=<O 747DO7=5=<O < 
ED4=<F5 E =5E>>?L><<< >4??O<< 6<4>>EF< 
4?O ED4=5=<O (MA9015) <?< pH7 (M10007) 6 
74M<F=>< >>??4G>5. 

������� �� �%���,�'�&� 
��%&���$�����'. ��� 
��������$�����'. ���' ��/ 
�$�����/ -���&$���. 
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�?O 5>?55 F>G=OE D57G?LF4F>6 <7<5D5=<= 

D5>><5=4G5< ?5D<>4<G5E>< >4?<5D>64FL 

?D<5>D. �4?<5D>6>4 F4>65 =5>5E>4<<4 ?>E?5 74<5=O 
M?5>FD>44 < ?>E?5 ?D>6545=<O <7<5D5=<= 6 E<<<G5E>< 
47D5EE<6=>= ED545. 
"  � 7  D 4 5 > G 5 7 >  D 5 6 < < 4  ? 5 D 5 6 5 4 < F 5  

? D < 5 > D  6  D 5 6 < <  > 4 ? < 5 D > 6 > <  
= 4 6 4 F < 5 <  <  G 4 5 D 6 < 6 4 = < 5 <  > = > ? > <  
O N / O F F / C A L  ? > > 4  E < 7 = 4 ?  O F F  = 4  
4 < E ? ? 5 5  E < 5 = < F E O  = 4  C A L .  

� F ? G E F < F 5  > = > ? > G .  

"  �5D5E>4 6 D56<< >4?<5D>6>< 
>F>5D464O <pH 7.01 USE= (<?< <pH 6.86 

USE= 5E?< <E?>?L7GNFEO D4EF6>DO NIST 
(�4F<>=4?L=O= <=EF<FGF EF4=44DF>6 < 
F5E=>?>7<=)). 

"  � ? O  > 4 ? < 5 D > 6 > <  ? >  > 4 = > =  F > G > 5  
? > 7 D G 7 < F 5  M ? 5 > F D > 4  6  ? N 5 > =  < 7  
> 4 ? < 5 D > 6 > G = O E  5 G D 5 D = O E  
D 4 E F 6 > D > 6  4.01, 7.01 (<?< 6.86), 10.01 

(<?< 9.18). 

"  � D < 5 > D  4 6 F > < 4 F < G 5 E > <  > ? D 5 4 5 ? < F  
7 = 4 G 5 = < 5  p H  5 G D 5 D = > 7 >  D 4 E F 6 > D 4  <  
> F > 5 D 4 7 < F  = 4  4 < E ? ? 5 5 .  � 4  
4 > ? > ? = < F 5 ? L = > <  4 < E ? ? 5 5  ? > O 6 < F E O  
E < 7 = 4 ?  R E C .  � E ? <  7 = 4 G 5 = < 5  = 5  

> ? D 5 4 5 ? < ? > E L ,  = 4  4 < E ? ? 5 5  6  

F 5 G 5 = < 5  1 2  E 5 > G = 4  5 G 4 5 F  

> F > 5 D 4 6 4 F L E O  E < 7= 4 ?  U S E  <  4 4 ? 5 5  
7 4 < 5 = < F E O  = 4  E < 7 = 4 ?  WRNG, 
>7=4G4NM<= GF> D4EF6>D =5 ?>4E>4<F 4?O 
>4?<5D>6><. 

"  �E?<  <E?>?L7>64?EO  5GD5 D=O=  

D4EF6>D  pH 7.01 (<?< pH 6.86), =46<<F5 

>=>?>G SET 4?O 6OE>44 <7 D56<<4 
>4?<5D>6>< < =4 4<E??55 ?>O6<FEO 
E>>5M5=<5 «�� 1». �4?<5D>6>4 ?> 

?5D6>= F>G>5 E>ED4=5=4 6 ?4<OF< ?D<5>D4 
< ?D<5>D ?5D56545= 6 >5OG=O= D45>G<= 
D56<<. 

�?O ?>?GG5=<O ?GGL<E D57G?LF4F>6 
<7<5D5=<= D5>><5=4G5< ?D>65EF< 
>4?<5D>6>G ?> 46G< F>G>4<. 
"  �?O  >4?<5D>6><  ?>  46G< F >G>4<  

>?GEF<F5  M?5>FD>4  6  5GD5D=O=  

D4EF6>D  pH 7 .01  (<?<  p H 6 .86 ) . 

"  �> >>>=G4=<N >4?<5D>6>< ?> ?5D6>= 

F>G>5 ?D<5>D 74?D>E<F 6F>D>= 5GD5D=O= 

D4EF6>D < =4 4<E??55 ?>O6<FEO 
E>>5M5=<5 «pH 4.01 USE». 

"  �D><>=F5 M?5>FD>4 < >?GEF<F5 57> 6> 6F>D>= 

5GD5D=O= D4EF6>D (pH 4.01, 10.01 <?< 9.18). 

"  �4 4<E??55 ?>O6<FEO E>>5M5=<5 REC, 

?D<5>D 74>>=G<F ?D>F5EE >4?<5D>6>< 
E>>5M5=<5< «�� 2» < ?5D5=45F 6 
>5OG=O= D45>G<= D56<<.  

��������: �>E?5 >>>=G4=<O >4?<5D>6>< 

=4 4<E??55 ?>O6<FEO =44?<EL CAL. 

"   �?O 6OE>44 <7 D56<<4 >4?<5D>6>< < 

6>76D4F4 > ?D54O4GM<< D57G?LF4F4< 

>4?<5D>6>< =46<<F5 >=>?>G ON/OFF. �4 
4>?>?=<F5?L=>< 4<E??55 ?>O6<FEO E<7=4? 
«ESC» =4 1 E5>G=4G < ?D<5>D 65D=5FEO > 
>5OG=><G D45>G5<G D56<<G. 
"   �?O >F<5=O D57G?LF4F>6 
>4?<5D>6><, =46<<F5  >=>?>G SET/HOLD ?>E?5 
6E>44 6 D56<< >4?<5D>6>< < ?5D54 74?><<=4=<5< 
?5D6>= F>G><. �4 4>?>?=<F5?L=>< 4<E??55 
?>O6<FEO E>>5M5=<5 «CLR» =4 1 E5>G=4G < ?>E?5 
MF>7> E>>5M5=<<5 CAL =4 M>D4=5 ?>74E=5F. 

http://www.martini-instruments.com/
http://www.martini-instruments.com/
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$56<< ?>76>?O5F GEF4=>6<FL >F>5D465=<5 
F5<?5D4FGDO (°C <?< °F) <?< =45>D 
>4?<5D>6>G=OE 5GD5D=OE D4EF6>D>6. �?O 
6E>44 6 D56<< =4EFD>=>< =46<<F5 >=>?>G 
ON/OFF 4> F5E ?>D, ?>>4 E>>5M5=<5 =4 
4>?>?=<F5?L=>< 4<E??55 «CAL» E<5=<FEO =4 
«TEMP» E F5>GM<< D56<<>< <7<5D5=<O 
(=4?D. TEMP °C). �4?55: 

" 4?O 6O5>D4 °C <?< °F: <E?>?L7G=F5 
>=>?>G SET/HOLD. �4?55 =46<<F5 >=>?>G 
ON/OFF >4<= D47 4?O 6O5>D4 =45>D4 
>4?<5D>6>G=OE D4EF6>D>6 <?< 46464O 4?O 
?5D5E>44 6 >5OG=O= D45>G<= D56<<. 

"  4?O E<5=O =45>D4 >4?<5D>6>G=OE 
D4EF6>D>6 ?>E?5 6O5>D4 54<=<FO 
<7<5D5=<O < >F>5D465=<O F5<?5D4FGDO 
=46<<F5 >=>?>G ON/OFF >4<= D47 < 6O55D<F5 
F<? =45>D4 (<pH 7.01 BUFF= <?<  <pH 6.86 
BUFF= 4?O F<?4 NIST) >=>?>>= SET/HOLD. 
�46<<F5 ON/OFF 4?O ?5D5E>44 6 >5OG=O= 
D45>G<= D56<<. 
 
������ -���&$���  
"  %=<<<F5 >>??4G>> < >F>DGF<F5 ??4EF<>>6>5 
>>?LF> 6 65DE=5= G4EF< M?5>FD>44. 
"  �4<5=<F5 M?5>FD>4 Mi56P =4 =>6O=. 
" '554<F5EL 6 =4?<G<5 ?D>>?44>< 4> 
74>DGG<64=<O >>?LF4. 
 
������ ��&�$��� 
�>O6?5=<5 =4 4<E??55 E<<6>?4 54F4D5=>< 
>7=4G45F, GF> ED>> <E E?G65O ?D>4?<FEO 6E57> 
=5E>>?L>> G4E>6. �D><5 F>7> ?D<5>D E=4565= 
DG=>F<5= BEPS (Battery Error Prevention 
System 3 %<EF5<4 �D54>F6D4M5=<O �L<5>> 
�<F4=<O), >>F>D4O 46F><4F<G5E>< 6O>?NG45F 
?D<5>D 6 E?GG45 =<7>>7> 74DO44 M?5<5=F>6 
?<F4=<O 4?O ?D54>F6D4M5=<O >L<5>> 
<7<5D5=<=. �?O 74<5=O 54F4D55> =5>5E>4<<> 
>F>DGF<FL >DOL>G >FE5>4 M?5<5=F>6 ?<F4=<O < 
74<5=<FL 6E5 4 54F4D5=>< 1.5V, >5D4M4O 
6=<<4=<O =4 ?D46<?L=GN ?>?OD=>EFL. 
'554<F5EL 6 F><, GF> ?D>>?44>4 =4E>4<FEO =4 
E6>5< <5EF5 ?5D54 74>DGG<64=<5< >DOL><.  

�4<5=G M?5<5=F>6 ?<F4=<O =G6=> 
?D><76>4<FL 6 =5>?4E=OE GE?>6<OE < 
>5EF4=>6>5. �5>5E>4<<> EFD>7> E>5?N44FL 
F<? M?5<5=F>6 ?<F4=<O, ?D<<5=O5<O= 6 pH55 
< pH56.    

 

��%�%%'�$/ 

MI 56P  -?5>FD>4 4?O pH55 < pH56 

M10004B  pH4.01 5GD5D=O= D4EF6>D, ?4>5F-

5<>>EFL 20 <? (>>D>5>4 25 LFG>) 

M10007B pH7.01 5GD5D=O= D4EF6>D, ?4>5F-

5<>>EFL 20 <? (>>D>5>4 25 LFG>)  

M10010B pH10.01 5GD5D=O= D4EF6>D, 

?4>5F-5<>>EFL 20 <? (>>D>5>4 25 LFG>) 

MA9004  pH4.01 5GD5D=O= D4EF6>D, 230<? 

MA9006  pH6.86 5GD5D=O= D4EF6>D, 230<? 

MA9007  pH7.01 5GD5D=O= D4EF6>D, 230<? 

MA9009  pH9.18 5GD5D=O= D4EF6>D, 230<? 

MA9010  pH10.01 5GD5D=O= D4EF6>D,    

230<?  

MA9015  $4EF6>D 4?O ED4=5=<O, 230 <? 

MA9016  $4EF6>D 4?O >G<EF><, 230 <? 

M10000B  $4EF6>D 4?O ?D><O6><, ?4>5F-

5<>>EFL 20 <? (>>D>5>4 25 LFG>) 
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pH <5FD ?D><76545= >><?4=<5= Milwaukee 
Electronics, Inc.  

�4 ?D<5>D ?D54>EF46?O5FEO 74D4=F<O 12 
<5EOF56 E 44FO ?>>G?><.  
�4D4=F<O D4E?D>EFD4=O5FEO =4:  
�4?4E=O5 G4EF< < D45>FO, E6O74==O5 E <E 
74<5=>=. &D4=E?>DF=O5 D4EE>4O =4 
?5D5EO?>G 74D4=F<==>7> E?GG4O 
6>76D4M4NFEO ?>>G?4F5?N.  
�4D4=F<O =5 D4E?D>EFD4=O5FEO: 
&D4=E?>DF=O5 D4EE>4O =574D4=F<==OE 
E?GG456, <745?<O E  <5E4=<G5E><<< 
?>6D5645=<O<<, E> E?544<< ?>?OF>> 
=5>64?<D<F<D>64==>7> D5<>=F4, =4 E?GG4< 
?>6D5645=<O 6E?54EF6<5 =5?D46<?L=>= 
M>E??G4F4F<<, ED4=5=<O < ?5D56>7>< <?< 
?D<<5=5=<O GEFD>=EF64 =5 ?> ?DO<><G 
=47=4G5=<N, =4 ?>6D5645=<O 6 E?GG4OE 
=5?D5>4>?<<>= E<?O, ?D< =5EG4EF=OE 
E?GG4OE, 4 F4>65 6 E?GG45 G<OL?5==OE <?< 
=5>EF>D>6=OE 45=EF6<= ?>FD55<F5?O, =4 
?>6D5645=<O ?D< <E?>?L7>64=<< 
=5>4G5EF65==OE < (<?<) =5EF4=44DF=OE 
D4EE>4=OE <4F5D<4?>6, ?D<=44?56=>EF5=, 
74?4E=OE G4EF5=, M?5<5=F>6 ?<F4=<O, =4 
<>4<D<F<D>64==O5 GEFD>=EF64 E ?N5>7> 
D>44 >>=EFDG>F<6=O<< <7<5=5=<O<<, =5 
?D54GE<>FD5==O<< < =5 E>7?4E>64==O<< E 
�77>F>6<F5?5<.   
�?O ?>?GG5=<O 74D4=F<< >F?D46LF5 
G?4>>64==O= ?D<5>D ?> 44D5E4<, G>474==O< 
=<65. �?>6<F5 �4LG >>=F4>F=GN 
<=D>D<4F<N, >?<E4=<5 ?D>5?5<O (?>?><><), 
?>4F65D645=<5 44FO ?>>G?><. 
 

��� «�>5<�>D>4»                                            
196084, %4=>F-�5F5D5GD7, 
 G?.�4D>>64O, 7           

115201, �>E>64,  
2-= �>F?O>>6E><= ?5D5G?>>,18 
&5?5D>=O: 7(812) 600-32-61  

                    7(495) 661-96-88        

%4=F: www.MoemGorod.com    
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�<4?47>= <7<5D5=<=  -2.0 4> 16.0 pH (pH 55) 

-2.00 4> 16.00 pH (pH 56) 

-5.0 4> 60.0°C / 23.0 4> 140.0°F 

&5=4 45?5=<O  0.1 pH (pH 55) 

0.01 pH (pH 56) 

0.1°C / 0.1°F 

&>G=>EFL (@25°C) ±0.1 pH (pH 55) 

±0.05 pH (pH 56) 

±0.5°C  / ±1°F 

�5OG=>5 EMC >F>?>=5=<O ±0.1 pH (pH 55) 

±0.02 pH (pH 56) 

±0.3°C  / ±0.6°F 

&5<?5D4FGD=4O >><?5=E4F<O 

�6F><4F<G., >F -5 4> 60°C 

�4?<5D>6>4 �6F><4F<G5E>4O, ?> 1 

<?< 2 F>G>4< < 2 =45>D4 5GD5D=OE D4EF6>D>6 

(pH 4.01, 7.01, 10.01 <?< 4.01, 6.86, 9.18) 

   -?5>FD>4  %<5==O= MI 56P     

  'E?>6<O              -5 4> 50°C; 100% RH max  

  -?5<5=FO ?<F4=<O 4 x 1.5V; IEC LR44,A76      

  %D>> E?G65O 54F4D55> 300 G4E>6  

  �6F>>F>?NG5=<5 G5D57 8 <<=GF  

  $47<5DO                  200 E 4<4<5FD 38 <<  

  �5E                            100 7D4<<

 

http://www.moemgorod.com/
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